Name ___________________________  Date ________________  Period ______

The Baby Caper


Three couples arrived at the hospital at the same time.  All three women were in labor and had to be rushed to the delivery room.  The chaos in the delivery room resulted in a mix up of the babies.  Each couple had twins (fraternal, not identical twins).

You must match the correct babies with their parents based on the genetic information given.

You must use Punnett squares to prove your results:


3 Punnett squares for the Nerds 


3 Punnett squares for the Cools


7 Punnett squares for the Dorks

Reviewing Genotypes and Phenotypes

=>There are 3 possible allele combinations for the genotype for eye color.


1.  Homozygous dominant = BB = phenotype of brown


2.  Heterozygous = Bb = phenotype of brown


3.  Homozygous recessive = bb = phenotype of blue

=>There are 4 possible blood types (phenotype form)


1.  Type A has an A antigen and 2 possible genotypes of AA or AO


2.  Type B has an B antigen and 2 possible genotypes of BB or BO


3.  Type AB has A and B antigens (codominance) and a genotype of AB


4.  Type O has no antigens and a genotype of OO.  O is the recessive allele for blood type even though it is still capitalized.

Data Table:  Fill in the missing information.

	Parents
	Eye Phenotype
	Possible Eye Genotypes
	Blood Phenotype
	Possible Blood Genotypes
	Which Babies Belong

	Mr. Nerd
	Brown
	
	Type AB
	
	

	Mrs. Nerd
	Blue
	
	Type O
	
	

	Mr. Cool
	Blue
	
	Type AB
	
	

	Mrs. Cool
	Blue
	
	Type B
	
	

	Mr. Dork
	Brown
	
	Type B
	
	

	Mrs. Dork
	Brown
	
	Type A
	
	


Baby Data Table:  Fill in the missing information.

	Baby #
	Eye Phenotype
	Possible Eye Genotypes
	Blood Phenotype
	Possible Blood Genotypes

	1
	Brown
	
	Type AB
	

	2
	Blue
	
	Type A
	

	3
	Blue
	
	Type O
	

	4
	Blue
	
	Type AB
	

	5
	Brown
	
	Type B
	

	6
	Brown
	
	Type A
	


Show the Punnett squares for the parents below:  (13 total)

